
HAVE YOU EVER ASKED YOURSELF
WHY  IS  EVERYONE  INFERTILE
TODAY?
Harmony makes small things grow. properly in nature…… Lack of
it makes big things decay around and in us.  Factor Yis a term
I use for the sixth extinction that has begun about 120 years
ago.  The political left, in my opinion is using climate
change narrative to hide the real fact that the electromgnetic
force is behind the 6th extinction.  Why do I believe this?
 C02 thermodynamically cannot act fast enough to explain the
Permian  extinction  or  the  current  one  ongoing.   The
electromagnetic force can.  It is the strongest of the 4
forces and it has unlimited range and power so this means it
can cause quick changes that will often be hidden for a time
because many of the effects will be non-linear in nature.  5G
from  above  courtesy  of  Elon  Musk  is  one  such  non-linear
change.
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Become an Optimal Klub Member or a Patron on Patreon.com to
read the full blog.
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